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PORT OF NHAVA SHEVA
Overview:

Nhava Sheva, is the 6th largest port in the world and the largest port in India. Located on the Konkan mainland, the port sits across from Mumbai. The Port of Nhava Sheva was constructed to relieve cargo pressure off of the Port of Mumbai. Nhava Sheva is well positioned in relations to major highways and rail support in India. Servicing over 65% of the container traffic in India, the Port of Nheva Sheva handles a wide variety of export cargo to include sporting goods, textiles, boneless meats, and carpets. Import traffic includes such items as plastics, vegetable oils, machinery, and chemicals. 
Facts:

The Port of Nheva Sheva’s traffic originates from within India and is destined to other cities / ports within India. With over 9.5 million TEU’s handled in India, the Port of Nheva Sheva handles about 4 million TEU’s annually. The Container Shipping Lines Association (CSLA) has relentlessly raised the concerns about the ports capabilities to the respective authorities however; no actions or adequate responses have been taken or received. The capacity of the remaining container terminals are limited and strained. The Port of Nhava Sheva equipment at the port is under serious constraints and constantly breaking down, most likely for overuse. Ships and containers are backing up and the port congestion rate is escalating weekly. These delays are seriously affecting scheduled liner services causing increased waiting periods or diversions for ships or containers, restrictions on container movement and missed container pickups. It should be noted, the port is aggressively pursuing the ability to handle 10 million TEU’s a year. 
Situation:

Your company, XYZ Imports, has contracts with several manufacturing facilities in India and your freight forwarder has always scheduled your shipments to depart from the Port of Nhava Sheva. On average, you move about 200 containers a month through the port and have not experienced any delays. Today, you received a notification that the port is experiencing severe service problems as result of two shore gantries becoming inoperative.  Container lines are experiencing delays, congestion, and an increase in operational costs.

All of these issues result in additional costs for the container lines that must be paid up front to the port before their next berthing. Ships are arriving in port with no berth availability. To add to the complexity of the problems, there is a shortage of pilots and overall marine services meaning drafts are limited so container lines cannot schedule in larger vessels to reap the economies of scale benefits.

There is no immediate end in sight to the existing problems and you are starting to feel the effects of the limitations. Consequently, Wal-Mart , Target, and Home Depot appear to have the large majority of the container service reserved for their own shipments and space is becoming extremely limited and comes with surplus costs. The shipping liners are passing on additional costs of $1000 per container leaving the port and an increase in estimated delivery days from 13 to 18.  Your company currently manufactures clothing for retail and Indian carpets in Mumbai, Delhi, Ranchi, Raipur, and Imphal. The clothing is packed in boxes by clothing type and on average weighs 50 lbs per finished box. The carpets come in three sizes; 3x5, 4x8, and 5x10. With the increase in sailing days and the increased cost per TEU, you have concerns with meeting your delivery obligations and avoiding penalties levied by your clients for falling below inventory postures of 96% onhand stock. How are you going to continue meeting your delivery obligations during this unfortunate port situation?
Questions:
1. Based on your product mix, would you recommend the use of air cargo for any of your manufactured goods? 

2. How would you get your products from the point of manufacturing to the airport of departure? 
3. Would you recommend increasing the use of rail? If so, from which sites?

4. Could you utilize other ports for exporting? If so, based on the manufacturing sites your company utilizes, which ports would you reroute your product lines to?

INSTRUCTOR APPLICATION NOTES

This case can involve the various chapters of study from the entire semester for students who have taken a Transportation, Import / Export, or International Logistics course.

Areas that could be addressed depending on how the students read and dissect the case include:

Product Mix – Perform a review of all manufactured items to determine inventory posture, FTZ usage, and transport restructuring.

Evaluate the modes of transportation – Any benefits to shipping by air. Students will need to think about the increased costs per container and shipping delivery windows in comparison to shipping by air or other means.
Evaluate ports – Are there any ports that are of benefit to re-route shipments to?
Evaluate transportation routing – Based on the manufacturing sites, it may be beneficial to use another mode of transportation to other countries or ports.
